F—5E N =
NI EERX S BSINZNRE
(B AMsEAH 1A = SfefFE3H310) N
(BN )
BERH EReAE PN & #t S ICINEES FEXS A
EH NIPNT SR = JTUN 2,618,606 2,618,606 2,618,606
EIPNERGINEESI'EN 10 10 10
% FEGBNAGHD 2,618,616 2,618,616 2,618,616
(] B PNGE-S T 450,700 450,700 450,700
V2| H [ S 50,302 50,302 50,302
i FHE S 224,400 224,400 224,400
%)
g
*X SR EH2) 725,402 725,402 725,402
FEREE SIS ERHB)=(1)-(2) 1,893,214 1,893,214 1,893,214
it | I
F|A R YN O))
B | 3 | pEEUAS S HY 896,500 896,500 896,500
fifi | H
£
el
X
%)
I
% i ER i % 3 EH) 896,500 896,500 896,500
it B3 s 2 N 3 22 (6)=(4)-(5) 896,500 896,500 896,500
Z [
DA Z DM DIEENINAFHT)
1A B E =T VNS AT 1,338,973 1,338,973 1,338,973
D\t
&
)
el
X
%)
I
53 Z DM DTEE) 3 HEHS) 1,338,973 1,338,973 1,338,973
Z DAMOTEB)E 4N S AFE(9)=(7)-(8) A1,338973 A1,338,973 A1,338,973
T 3 H(10)
S SN SERE A FH1D=(3)+(6)+(9)-(10) A342,259 A342,259 A342,259
AR A E &% = (12) 336,546 336,546 336,546
LRI E A7 E (1 D+(12) A5713 A5713 A5713




